Trig - 7.1-7.2 - Law of Sines, Law of Cosines, and Area February 03, 2014

7.1 The Law of Sines

How do we solve oblique (not right) triangles?
We need to know three things about a triangle in order to solve it.
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18. B = 22.6°,b =5.55,a = 13.8
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7.2 - The Law of Cosines
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The Law of Cosines
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7.1/7.2 Area of a Triangle L
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Find the area of the triangle.

A=50°b=13cm,c=6cm

Nfa’- i’bcs;n/A\
f(’@(@s)mSO“
1299 emd




Trig - 7.1-7.2 - Law of Sines, Law of Cosines, and Area February 03, 2014

7.1 #28
The longer side of a parallelogram is 6.0 meters. The measure of angle BAD is 56°

and ais 35¢. Find the length of the longer diagonal.
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7.2 #41

The rectangular box in the igure measures 6.50 feet by 3.25 feet by 4.75 feet.

Find the measure of the angle © that is formed by the union of the diagonal shown
on the front of the box and the diagonal shown on the right side of the box.
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Homework:

7.1 #1-21 odd
7.1 #29,30,33,34,35

7.2 #9-19 odd
7.2 #25-290dd;
7.2 #38,43,46,47,48

solving triangles with Law of Sines
word problems with Law of Sines

solving triangles with Law of Cosines
area
word problems with Law of Cosines

Expect a quiz on Law of Sines/Cosines on Thursday

Homework due Friday

Test #4 Canceled

Wed, Thurs: continue with 7.1/7.2

Fri, Mon: review for Final Exam

February 03, 2014
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